BUUCTF Reverse/[ACTF# 4 %%
2020]Universe_final_answer

XA R 5 A F 2021-07-29 16:38:16 K fi 113 e
SKER: #BUUCTF Reverse

FRBUE B RSO EJRAISCE, #MAE CC 4.0 BY-SA WY, $EIEH LRICH AsEEMA Y,

A HEE: https://blog.csdn.net/ookami6497 /article/details/119214347
KA

BUUCTF Reverse ER2RFHIZHE
58 R E 2 iT17
TSR

BUUCTF Reverse/[ACTF#i 4 #2020]Universe_final_answer

mE EERFE

IACTFFR&EE

2020lUniverse_final_answer
1

153IRY flag iIT 8L flagl} {232,

* attachment....

Flag

hitps://blog.c&dn.net/ookamicdo?

EEXMHER, BHEME


https://blog.csdn.net/ookami6497
https://blog.csdn.net/ookami6497/category_11205697.html
http://creativecommons.org/licenses/by-sa/4.0/
https://blog.csdn.net/ookami6497/article/details/119214347
https://blog.csdn.net/ookami6497/category_11205697.html

¥ txeinfo PE - ver.0.0.6.3 by A.S.L- 1086+100 sign 2020.07... — X
File: |UniverseFinalAnswer | e =]
™ EntryPoint: 00000750 | [0o0] | <| EP Section: il
File Offset: |? First Bytes : | 7F.45.4C.46.0z Plug
g Linker Info: [7 SubSystem : |7 [ &) |
File Size : 000027F0h <| | N| Overlay : ? @
Diagnose: S— =
[NOT Win EXE - .0 -ELF executable [ 64bit obj. Shared obj file - CPU : AN scan T Rip
EHRER - #HEHET -RRER ey o
| -> Compiler : GCC: (Ubuntu 7.4.0-1ubuntu1~18.04.1) 7.4.0 ehedit 2

FIIDAGAGLAT T, ARIGR M, RN FAF 8 AL

inte4 _ fastcall main(int al, char a2, char a3)

char v4[32];
char v5[104];

unsigned _ int64 v6;

v6 = _ readfsqword(0x28u);
__printf_chk(1LL,

scant( , V5);
if ( sub_860(v5) )

{
sub_C50(v5, v4);
__printf_chk(1LL,
b
else
{
puts(

s
return OLL;
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bool  fastcall sub 860(char *al)
i

int vi;

int v2;

int v3;

int v4;

int v5;

int v6;

int v7;

int v8;

int v9;

bool result;

int v11;

vl al[1l];
v2 al;
E al[2];
v4d = al[3];
v5 al[4];
v6 = al[6];
v7 = al[5];
v8 al[7];
v9 = al[8];
result 0;
if ( -85 v9 58 v8 97 v6 + V7 45 v5 v3 12613 )
{
v1l al[9];
if ( 30 * vi1 70 * v9 v6 81 v7 86
v8 54400
103 v1l 120 v8 v7 48 v4 v5
v9 10283
71 v6 (v7 7) 99 v5 & 85 vl 79 * v2 30 * v4 v8
22855
5 v1l 23 V9 v8 19 v6 99 v7 v5 69 v3 22 vl
2944
54 vil 23 v8 82 v3 85 v2 vl 11 v4 v5 60 v7
2222
83 v1l 111 v7 57 v2 41 vl 73 v3 18 \Z3 26 v5 16 v6
13258
81 v1ll 48 v9 66 v8 v6 \4 95 v5 85 v4 60 v3 85 v2 80 Vv
1559
101 vil 85 vS V6 v7 83 v5 \Z3 90 v3 28 vl 18 \ v8

return result;
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import numpy as np

np.array([[0,-85,58,1,97,-45,84,12,95,-20],
[30,-70,-30,-81,-122,-66,-115,-41, -15, -86],
[-103,-120,120,108, -64,31,48, -89, -41,78],
[-16,48,-119,128,71,99,-30,-111,79,85],
[5,23,122,99,-19,-117,10, -69, -98,22],
[-54,100,-23,-60,95,-8,-11,-82,-85,124],
[-83,-63,77,-111,16,26,-18,73,-57,41],
[81,-48,66,-121,-104,95,85,60, -85,80],
[101,-85,-1,117,7,-83,-101,90,18, -28],
[99,-28,5,-18,93,-127,6,-9,58,-93]])

np.array([12613,-54400, -10283,22855, -2944, -2222, -13258, -1559, 6308, -1697])

np.linalg.solve(m,n)

vl
\
v3
v4
v5
V6
v7
v8
v9
vil
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El [ 64, 119,55, 95, 121, 84,82,117, 48,79]
for i in (10):

print( (a[9-i]),end
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